1.1.4

a) AB + BD+DC = AD + DC = AC

AD

b) AD + DC +DE + EB + BC = AC + DC

AC DC

¢) AC—BD —AB = DB + BA + AC = DC
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+DB +BA DC

d) DA — (DB + BC +CD) = DA
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DD=

<l

e) EC-ED+CB-DB=DE+EC+CB+BD=0
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+DE +BD DD=0

1.1.5

a) @ =AB+FG = 4B + BC = AC

BC AC

b) b =AG+CD =AG+ GH = AH
GH AH

¢) ©=EB+CA=HC+CA=HA
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d) d = EH + DC +GA = EH + HG + GA = EA

HG EA
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e) ©=AH+ EB = AH + HC = AC
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HC AC
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f) f=AB+CC-|—BH+GF:AB+BE+HE=AE

0 HE AE
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a) @=AB+(D =AB + BO = A0 = FE
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BO AO
b) b = AB+ FE = AB+ BC = AC

BC AC
¢) ¢ =AC—FE=AC+ EF,=AC+CB=AB
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+EF CB AB

d) d =FEB+DFE=DE+ EB=DB
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DB
¢) ©=FE +FE = AO + 0D = AD
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A0 0D

f) f =FA+ AB + BC +

FC

= FC

AD
DD
e
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EX A LD

(& -20) -eb = —"—}(/‘_5?_{’\@\ 20
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T -0 —eb = ST + 2Ub « 0o
“GUHAST = 24B + 23 -238+ ab
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